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MASTER OF ARTS (ECONOMICS) 

Term-End Examination 

June, 2013 

MEC-005/MEC-105 : INDIAN ECONOMICS 
POLICY 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer the questions as per instructions given for each 

section. 

SECTION - A 

(Long Answer Questions) 

Answer any two questions from this section in 

about 700 words each : 	
2x20=40 

1. Distinguish between economic growth and 

economic development. Give an account of 

structural changes in Indian economy since 

1990-91 as reflected in changing composition of 

GNP and occupational structure. 

2. Identify the key reform strategies that have been 

followed since 1991. How far the economic 

reforms been successful in raising employment 

and reducing the poverty level in India ? 
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3. What do you mean by fiscal imbalances ? Evaluate 

the steps taken by the Central Government in 

India to correct the fiscal imbalance. 

4. Discuss in brief the features of good governance. 

Do you think that existing institutional structures 

in India have not lead to good governance 

outcome ? Give reasons in support of your 
answer. 
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SECTION - B 

Answer any five questions from this section in 

about 400 words each : 	
5x12=60 

5. State the indicators that cover income and non- 

income aspects of poverty. Also comment upon 

the statement that "PG index is more useful in 

assessing the poverty situation". 

6. Explain how declining public investment in 

agriculture is a matter of concern ? What are its 

implications ? 

7. Discuss the importance of forest resources in the 

Indian economy. 

8. Analyse the rate and pattern of industrial growth 

during the last two decades of liberal economic 

policy regime. Evaluate the changes in the pattern 

of industrial development in India. 

9. Examine the prospects and challenges faced by 

the service sector in India. 

10. "Response of foreign capital to recent policy 

initiatives is considered as lukewarm". Make 

suggestions to change this trend. 
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11. Examine the important changes in the structure 

of India's foreign trade since 1991. Do you think 

that growing openness of Indian economy has 

made it more susceptible to external shocks ? 

12. Write short notes on any three of the following 

(a) Political economy 

(b) Human Development Index 

(c) Fiscal deficit 

(d) Social infrastructure 

(e) Working poor 

13. What do you mean by inequality in income 

distribution ? How are the inequalities of income 
measured in an economy ? 
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